€D  wigmr-—XAXY—2

(V=T & xF8R]

ZF - . o o] m [ ma | e % -
LRI Ous mrpst-L 7o s 2| T— LY —E | 1)a— TOLIHYLA|Msero=strrmt| tra—F IL—T| [ N ‘t";li ok &L
1 BREER—LTF TR o — 0]J]0 — 0|3 — 3 — 0|3 — 0}]3 *x 0O 9 18 0
2 T—L9—EZ[ 0 — 0 1T - 2|1 = 3 — 0oflo — o1 *x 2] s 10 9
3 Yya— 0 — ofl2 — 1 0 — 3 — 0|3 — o3 x o] 8 | 17| 2
4 ooo<hYLel o — 312 — 1[0 — o 0 — of1 — 2]1 % 2] 3 6 12
5 msaro=sttzx®t| 0 — 3|10 — 3|0 — 3|0 — 0 — 0]0o *x 3 0 0 18
6 t~a—4L—70 — 3|0 — O0|J]O — 3|2 -— 0O — 0 1 % 2 2 4 14
1st HEEET—IL
2nd TIRUE—2XR—L
[ZFLyFTRv):1stRT—]
‘ 128 8H (&) DX
HEERT—IL
BARER—ILT(TR 3 VS0 =G )IL—J I—LY—EX 1. VS 2 222A)LA
6 0 6 1
S1 IEE IEE 2 6 1 0 ¥l fEfE s1 il BEX 2 6 4 0 ik B
6 3 K 4 6 o
s2 INJE BEF 2 6 1 0 KU A s2 miE Rk 0 6 7 (5 2 BN K
6 3 = . 4 6
b it #EF [, 61 o ek = b BA BE | 46 R OB
#E AIEF hill 2R AR bthim K B
Ja— 3 VS 0 MS&AD=FHF & L]
6 4
S1 e BE 2 6 2 0 A #hiE
6 1
s2 &H #F 2/ 60 0 | BE
~ 6 0 - -
D BiE BxR 2 6 0 0 EFR HE
sH# EE LB BKF
‘ 1289H (X) DxE
HEERT—IL
BABRER—ILTLTR 3 VS 0 MS&AD=FHx & I I—LTF—FEX 1T VS 2 Ja—
6 0 4 6
S1 WEE IEE 2 6 2 0 MR #hiE s1 il BER 0 4 6 2 we BE
6 1 . 6 3
s2 INE HBH, 2 6 1 0 @ BE s2 He FFx 2 36 1 =H &F
10 - 3
6 0 - " s 26 s A
D INE BKF 2. 6 0 0 EFR HE D BAR KE 0o 4 6 2 BiE BE
FlE wEF LB BKF AR bthim &H EE
27 ATLA é v7$ 2 T a—FTNL—7T
S1 =ik B 0 2 6 2 ¥ 5T
_ 3 6 N
s2 BN BE 0 36 2 AR HE
6 2 =
o| B E 2 64 g Em =
Ak B fill &R
‘ 128108 (B) O 8
EERET—IL
BARER—ILT(TR 3 VS0 253BILA I—LY—FEX 3 VS 0 MS&AD=FHE R E L
6 0 7 5
S1 WEE IEE 2 6 1 0 b ) s1 il BEX 2 75 0 A thi
6 0 . . 6 0
s2 fAf #5%F 2/ 60 0 =ik B s2 Hef FFx 2 715 0 @ BE
6 0 ol EUY e 6 2 = +
D INE BKF 2 6 1 Bk B D BAR KE 2] 6 0 0 EFR HE
FlE wEF Bl e AR bthim Sk kT
= 3 VS0 a—gI)L—7
6 4
S1 e BE 2 76 (B0 ¥ HE1E
6 3 N
s2 &H #F 2 76 @&® 0 A fEx
6 1 =
o| BEBE |, 76 o EEE
sH F7E il $ER




	1rwom

